5. What is the area of
a shape that is 20m x
20m?

9. Order the decimals
in ascending order
1.7,107,1.03,171

10. Fill in the missing
operation
12__8=96

5. What is the area of
a shape that is 8m x
30m?

2
6. -

ul | =

7.10% =
8.0.6m = cm
9. Order the decimals

in descending order
3.02,3.22,352,203

10. Fill in the missing
operation
64 __64=128

5. What is the area of
a shape that is 16m x
10m?

8.163cm = m

9. Order the decimals
in ascending order
8.1,18,8.01,1.08

10. Fill in the missing
operation
90 ___90=8100

] ] ] ] ] ] ]
12

RO Mental Maths
Monday Tuesday Thursday
1.80x 6= 1.40x 9= 1.70x 8 = 1.90x 5 =
2.240+ 6= 2.360 + 4= 2.420+ 6 = 2.540 + 9 =
3.368 + 244 = 3.123 +425= 3.620 + 245 = 3.86+89=
4.289 - 101 = 4,568 - 310 = 4.68-32= 4,683 - 240 =

5. What is the area of
a shape that is 12m x
11m?

3
6.7 -

Bl

7.12% =
8.2.1m = cm

9. Order the decimals
in descending order
0.3,0.33,0.03,0.35

10. Fill in the missing
operation
42 __3=126
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] ] ] ] ] ] ]
R Mental Maths o
Monday Tuesday Thursday
1.80 x 6 = 480 1.40 x 9 = 360 1.70 x 8 = 560 1.90 x 5 = 450
2.240 + 6 = 40 2.360 = 4= 90 2.420+ 6= 70 2.540 + 9 = 60
3.368 + 244 = 612 3.123 + 425 = 548 3.620 + 245 = 865 3.86 +89 =175
4.289 - 101 - 188 4.568 - 310 = 258 4.68-32=36 4. 683 - 240 = 443

5. What is the area of
a shape that is 20m x
20m? 400m?

1 1

= iy

4 4

7.32=9
8.90cm = 0.9m

9. Order the decimals
in ascending order
1.7,107,1.03,171
1.03,107,17,171

10. Fill in the missing
operation
12 x 8=96

5. What is the area of
a shape that is 8m x
30m? 240

1_1
6.5-575
7.102 = 100
8.0.6m = 60cm

9. Order the decimals
in descending order

3.02,3.22,3.52,2.03
3.52,3.22,3.02,2.03

10. Fill in the missing
operation
64 + 64 =128

5. What is the area of
a shape ‘rha‘r is 16m x
10m? 160m?

5

6.--

O |

9

Ne]

7.52= 25
8.163cm = 1.63m

9. Order the decimals
in ascending order
8.1,18,8.01,1.08
1.08,1.8,8.01,8.1

10. Fill in the missing
operation
90 x 90 = 8100

5. What is the area of
a shape that is 12m x
11m? 132m?

1 1

6 3 -1

4 2

7.12% = 144
8.2.1m = 210cm

9. Order the decimals
in descending order
0.3,0.33,0.03,0.35
0.35,0.33,0.3,0.03

10. Fill in the missing
operation
42 x 3 =126
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